

Task	Rate	Qty	Amount
Pre-Delivery Inspection	£2,500.00	1	£2,500.00
To conduct audit process of build and report faults to factory for repair before dispatch, con-duct full sea trial and systems checks, clean exterior and interior and protect ready for shipment			
Ultramarine anchor swivel	£382.00	1	£382.00
To supply and fit Ultramarine anchor swivel. This device will always ensure the anchor stows when retrieved right way up without concern of damaging hull			
Underwater Lights Upgrade	£1,220.00	1	£1,220.00
Configure factory fitted underwater lights to have lumiswitch option to allow blue and white operation, inc new hubs and switch			

<b>Foredeck seating music</b> To supply and fit Fusion Apollo SRX400 remote (linked to saloon head unit) and x2 7.7" fu-sion signature speakers to foredeck	£1,455.00	1	£1,455.00
<b>Upgrade flybridge music</b> To supply and fit x4 Fusion signature 7.7" speakers, x1 10" signature sub all through supply and fitted signature fusion 5 channel amp	£1,890.00	1	£1,890.00
<b>Wifi router</b> To supply and fit Pepwave BR1 wifi, including mount, cabling and installation	£1,877.00	1	£1,877.00
<b>Extra sockets</b> To supply and fit additional socket in master cabin under coffee table	£250.00	1	£250.00
To supply and fit exterior weather proof socket under flybridge table	£275.00	1	£275.00
To supply and fit exterior weather proof socket under cockpit table	£275.00	1	£275.00
Separate USB socket by bed	£175.00	5	£875.00
Change standard UK sockets to multi zone sockets	£350.00	1	£350.00
<b>Tender/jetski installation to platform</b> Including universal teak chocks, stainless tie down eyes (removable) and lashing straps	£1,275.00	1	£1,275.00
<b>Shore leads</b> Supply x2 32Amp hard cased shore leads at 20m	£345.00	1	£345.00

<b>Director chairs</b> To supply x2 teak folding director chairs with backs and cushions, these will useful to create more seating around cockpit table and Flybridge table and can be folded away in Lazerette.	£785.00	2	£1,570.00
<b>Safe in Master cabin</b> To supply and fit an Dometic A4 digital safe in the master cabin wardrobe	£475.00	1	£475.00
<b>LSA</b> To supply 8 x man airmar liferaft designed for locker on Flybridge	£1,076.00	1	£1,076.00
To supply 1 x Icom M23 waterproof hand held VHF	£165.00	1	£165.00
To supply an ACR rapid ditch grab bag	£88.00	1	£88.00
To supply a soft wood skin fitting bung kit	£10.95	1	£10.95
To supply a waterproof torch	£11.50	1	£11.50
<b>Oils</b> Supply 10ltrs of 46 grade hydraulic system oil for platform / Passerelle	£45.00	1	£45.00
Supply 10 ltrs of steering oil	£65.00	1	£65.00
Supply 5 ltrs of trim tab oil	£52.00	1	£52.00

Anchor bridal Spliced high tension rope to allow fitment to both forward cleats and then with the correct gauge stainless anchor chain hook for easy attachment. This must be used as per owner's manual, when long term anchor to prevent anchor Shute/roller, windlass becoming damaged	£285.00	1	£285.00
<b>Pre fuel filters</b> Supply x 4 Separfuel pre filter elements for the engine	£40.00	4	£160.00
Supply x 2 Separ fuel pre filter elements for the generators	£21.50	2	£43.00
<b>TV in Forward Cabin</b> To supply and fit 32" Samsung TV with fusion Apollo MS-RA670 audio system and two speakers	£1,988.00	1	£1,988.00
<b>TV in Stbd Cabin</b> To supply and fit 32" Samsung TV with fusion Apollo MS-RA670 audio system and two speakers	£1,988.00	1	£1,988.00
<b>Winecooler</b> Supply and fit mQuvee wine cooler wine expert 12 bottle unit in place of standard saloon side unit under counter fridge	£1,725.00	1	£1,725.00
<b>Stainless Name</b> To supply on stainless letters J'LA as per artwork proposal 4x Character setup = High mirror polished stainless steel 316	£722.00	1	£722.00
Stainless Steel = All tops & edges hand polished to a high mirror finish all round Overall size = Estimated at: 200mm tall			
Shipping of backlit name to Nigeria (excl. local customs charges)	£125.00	1	£125.00

Berthing	£53.04	13	£689.52
Berthing at Plymouth Yacht Haven Marina from 04/07/22 to 19/07/22 with two days included within PDI.			

Subtotal	£24,252.97
Total ?	£24,252.97
Payments	£24,252.97
Balance	£0.00

## Terms

Please note our terms of business that apply, as per British Marine Federation Terms of Business Edition 15a. Our full terms and conditions can be found at <u>https://prnautica.com/terms-of-business/</u>

	Pound Sterling (£)	Euro (€)	
Account Name:	PR Nautica Ltd.		
Account Number:	23222691	46975188	
Sort Code:	20-68-10	20-68-10	
IBAN:	GB73 BUKB 2068 1023 2226 91	GB94 BUKB 2068 1046 9751 88	
BIC:	BUKBGB22	BUKBGB22	

Registered in England 05692821, VAT No. 878 3861 63, EORI No. GB878386163000



Shttps://prnautica.com Sweb@prnautica.com